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Question Number : 1 Question Id : 4509386401 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a real valued function f:[a,®) = [b, o) defined by f(x)=2x% - 3x+5 is a bijection, then

3a+2b=

filao)=[bo) OF 28 T Lrey Db,  fE)=uE-3xt5

G 300520S & 3HeD [NDONHS, 3a 4+ 2b =

Options :
20
1. %
10



Question Number : 2 Question Id : 4509386402 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

1

Jlogos(2x-3)

The domain of the real valued function f(x) =

TR ST (IDONO f(x) = ———= + V& — 9xZ TBNEFY, (DBFO
Malogu.5{2x—3)

Options :

53)

1. %

Null Set
- %5 cdaded

2

— D

52)
3. #®

[ 2 2

3’3



Question Number : 3 Question Id : 4509386403 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

254594813+ 11.17 4+ «--to 10 terms =

254+59+813+11.17 + - 10 DT OB =

Options:

3355

1375

1380

Question Number : 4 Question Id : 4509386404 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1 1 1
a? b?* c?
a® b* 2

Options:

(a—b)(b—c)(c—a)(a+b+c)

(@ —D)(b —c)(c—a)



(a— b)(b—c)(a—c)(ab + bc + ca)

(a—b)(b—c)(c—a)(ab + bc + ca)
4.

Question Number : 5 Question Id : 4509386405 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A= [ 12 21_] and aA? + fA = 2] forsome a,f € Rthena + f =
=

A :[_12 _25] OO a,f ER OB ad? + A = 21 E{Jiﬁfr@a{—ﬁ _

Options:

7

1. %

Question Number : 6 Question Id : 4509386406 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The system of equations x+2y+3z=6, x+3y+52=9, 2x+5y+az=12 has no
solution when a =

NaDSOE e x+3y+52=9, x+2y+32=6, 2 +5y+az=12 H TS
B a=

Options :

Question Number : 7 Question Id : 4509386407 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If m. n are respectively the least positive and greatest negative integer values of  such that

-k
—| =—lL.thenm-n=
1+

ik
(E) = —i EHLY GOT k INSOS SOIT m, 1 e S SSaFTos

1+1

605D 1B HERFT'0E DVDOONS m —n =
Options :

4
1.4



2. %

3.8 O
3

4.% <

Question Number : 8 Question Id : 4509386408 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

, 72t N .
If a complex number z is such that P purely imaginary number and the locus of z is a closed
i

curve, then the area of the region bounded by that closed curve and lying in the first quadrant 1s

%i R0 DY 5 0P TDILENT &) 28 D08Y d0oD§ HBAM z TN,

OENEH0 28 05y B0 SN INEGE FS0S GO, & N0yt HENT

3900tIG [P0 ITO50

Options :
21
1. %
18
2.0 2
118
3. %
T
4

4, %



Question Number : 9 Question Id : 4509386409 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

(cos a+isin a)®

Real part of 18
L (sin b+i cos b)®

(cos a+isin a)®
(sin b+i cos b)®

A3NE) TP 230

Options:

sin (6a — 8b)
1. %

cos(6a — 8h)
2. %

sin(6a + 8b)

cos (6a + 8b)

Question Number : 10 Question Id : 4509386410 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1
4 + =
H—
Ry e
Options :



(2 + x-'g), (2 — x-’lg)

2+V5

2 -5

2443

Question Number : 11 Question Id : 4509386411 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If x2 + 5ax + 6 = 0 and x% + 3ax + 2 = 0 have a common root then that common oot is
x? 4 5ax 46 =0 DBOM 12 4+ 3ax 42 = 0 NDEOTON 2.8 &o0B HrO0 &GO,
& €53 ATO0
Options:
3 (or) —3

3(Bor) —3

2 (or) —2

2 (BT°) —2

3. %



2 (or) —3

2 (B°) —3
—2 (or) 3
—2 (B) 3
4, %

Question Number : 12 Question Id : 4509386412 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a, B,y are roots of the equation x® + ax? + bx + c = O thena ™t + f71 +y71 =

a,B,y €03 +ax? +bx +c =05 Sreren @on@ ol + 14yl =

Options :
a
c
1. %
b
&
2.
=
a
3. %
b
a



Question Number : 13 Question Id : 4509386413 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the roots of the equation x* — 13x? + Kx — 27 = 0 are in geometric progression then K =
¥ = 13x% 4 Kx — 27 = 0 D860 G308} shreren ea (3B ot K =
Options :

—30

1. %

30

39

~39

Question Number : 14 Question Id : 4509386414 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If all the letters of the word MASTER are permuted in all possible ways and words (with or

without meaning) thus formed are arranged i dictionary order. then the rank of the word

MASTER s
MASTER H%06SQ @) 05708 83 o088 @8ns)d B edo
BA) A00ENHS R (5506 @67 & |E06 MASTER &7 3¢50 T3E) §6

Options:

357
1. %



h
-2
|

2. %

257
3. v

752
4. %

Question Number : 15 Question Id : 4509386415 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If set A contains 8 elements then number of subsets of A which contain at least 6 elements 1s

A ©F SDBS 8 LrOFEN0D), SN0 6 APOTON0R A BE, GIIDRE

RO
Options :
28
1. %
i
2. ®
3¢ 7
82
4, ®

Question Number : 16 Question Id : 4509386416 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The number of different permutations that can be formed by taking 4 letters at a time from the

letters of the word ‘REPETITION" 15
‘REPETITION’ 3¢50 0638 098000 08 2,870 4 @500 85D TS

2630010 DS, (DTTO oS
Options:

1380
1. %

1218

1398
3.

1286

Question Number : 17 Question Id : 4509386417 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Numerically greatest term in the expansion of (5 + 3x)%. whenx = 1. is

x =1 @0aNS I (5 + 3%)8 DABS” 0TSO HBR D3N

Options :

37 %5
1. %

3% 52



34 x 54

Question Number : 18 Question Id : 4509386418 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2 24 246

3738 360"

Options:
3
5
1.+
e
5
2. %
2
3. % >
3\ /3
5)
4. %

Question Number : 19 Question Id : 4509386419 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If 1 Ax+RB n Cx+D i BD — AC
= 1en —AC =
x3+1 x24+2x+1  x2—2x+1

1 .. AxtiB Cx+D

= eONE, BD —AC =
x4+1  x2+2Zx+1  x2—2x+1

Options :

3
1.+

1

8
2. %

1
3. %

0
4, ®

Question Number : 20 Question Id : 4509386420 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The smallest positive value (in degrees) of 8 for which

tan(6 + 100°) =tan(f + 50°) tan(6) tan(# — 50°) is valid. is

tan(6 + 100°) =tan(6 + 50°) tan(6) tan(f — 50°) DLV2FED @ﬁhﬁ&w &) 0 Oy
£ Saeed 8 densd (BioS)

Options :

1. % "



45°

2. %

)=
3.+

I 5%
4, #

Question Number : 21 Question Id : 4509386421 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The value of 5cosf + 3 cos (6‘ + g) + 3 lies between

5 cos @ -|-3c05(5' -I—E)—I— 3 Q3B DN

Options:

—2 and 5

—2 08050 5 © NAE GOLNOH

1. %
—1 and 8
- —1 DB 8 © NG FOLNOE
—3 and 6
, 3 DB 6 © G FOLVOD
3.

4. &



—4 and 10
—4 08050 10 © NG oLV

Question Number : 22 Question Id : 4509386422 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Statement (S1): sin 552 4+ sin 53% — sin 199 — sin 17° = cos 2°

: 1 o BB %
Statement (S2): Range of ———— 15 [—, —]
= —cos2 x 4 2

Which one of the following is correct?

[2909TI0 (S1): sin55% + sin53°% — sin 192 — sin 17° = cos 2°

—cos2x
80O S DA Hehgan?

Options :

Both (S1) and (S2) are true
(S1) DB (S2) BOCET dEdEOD

Both (S1) and (S2) are false

(S1) DB (S2) BOCET @D6B£50
2. %

(S1) is true. (S2) 1s false

(S1) DEBEN. (S2) €955
3. %

4.



(S1) 1s false, (S2) 1s true

(S1) @550, (S2) eh a0

Question Number : 23 Question Id : 4509386423 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The general solution of 4 cos 2x — 43 sin2x + cos3x —v3 sin3x +cosx —y3 sinx =0

4 cos2x — 443 sin2x + cos3x — 3 sin3x +cosx -3 sinx =0 s, o

NEANY

Options:
i
3 3
1. %
niT e T
2 6
2. %
nir n It
2 12
3.
nir
2" 12
4, %

Question Number : 24 Question Id : 4509386424 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The general solution of 2cos?x — 2tanx+1=0is

2 cos? x — 2 tan x +1=0 A30E) S P
Options :

-I-?T =&
nitf— RE
4

T
2nm ig, nEE

nct+t—,nez
3

Question Number : 25 Question Id : 4509386425 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

cosh (:sinh'l (-u@)-l-cnsh'l B} =

Options :
V6+an2
1. %
15+8v3
2. v



6V6+10V2

8-15v3
4, %

Question Number : 26 Question Id : 4509386426 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
In a triangle ABC. if r; =27, =3r3. then sin A:sinB:sinC =

5
2.8 L@aﬁjﬁ(} ABC & 1, =2r,=3r3 €90, sin A: sin B: sin C =

Options :

TR o
1. %

3:4:2
2. %

G: 32
3. ®

5:4:3
4,

Question Number : 27 Question Id : 4509386427 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In AABC if B = 90° then 2(r + R) =
AABC S° B = 90° @0ONS 2(r + R) =

Options :

a+b

Question Number : 28 Question Id : 4509386428 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In a triangle ABC. if (a—b) (s—c¢) = (b—c) (s—a), then r;+r; =

2,8 829230 ABC &S’ (a—b) (s—c) = (b—c) (s—a). OO ry+1; =

Options :

2 — I3
1. %

315
2. ®

21"2
3.



30 CREY: )

Question Number : 29 Question Id : 4509386429 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If L. M. N are the mud points of the sides PQ. QR and RP of APQR respectively. then

QM+IN+ML+RN-MN-QL=
L, M, N & ST APQR G30%) 202060 PQ, QR, RP © S3¢d; Hochyen eond

QM+LN+ML+RN-MN-QL=

Options :

PQ + QR + LM + MN

1. %

LP + PM + MQ
2. %

PQ + QR — PR

LM + MN + NR
4, ®

Question Number : 30 Question Id : 4509386430 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Let dxb=71—5-4kand @a=1+3j-2k. If the length of projection of bondis
B )

o then |b| =

dxh=7i-5] -4k OO a=1437-2k®DHS0A. @ 3 b Y 02 DT e

78y = o [b] =

Options:

Question Number : 31 Question Id : 4509386431 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let ABC be an equilateral triangle of side a. M and N are two pomnts on the sides AB and AC

respectively such that AN = K AC and AB = 3 AM. If the vectors BN and CM are perpendicular,

then K=
ABC ®30 DB b a T 0 28 Dm0 (@2HZa0. AB 80N AC
202003 SHI™ M DA N 97 Dothsjen AN =KAC OO AB=3 AM
9 GDEIED G 00, AAFEN BN HAO CMED ©00T 0T, K=

Options:

1.4



2. %
1
_ 5
3. %
2
5
4. %

Question Number : 32 Question Id : 4509386432 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let @ and b be two non-collinear vectors of unit modulus. If it = @ — (a . B}l_) and o= x b,
then |9| =
7500500 b ex 2,863 SFaT ey $B)otren 0 Boch HBTew. i = a— (a.b)s
B0 7 = d x b Lo,

%

Options:

|| + |@t . 7]
1.+

fil
2.% 2



Question Number : 33 Question Id : 4509386433 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The shortest distance between the skew lines r = (—i_' —2j— SI_{) G r(i? e ZL) and
7=(7i +4k) +s(i - 2j +2k) is
ORPRIOPEN T = (i — 2j — 3k) +£(3i — 2j - 2k) OO
7= (71 +4k) + s(i - 2/ + 2k) © D3 8dad (5G0
Options :

15

16

Question Number : 34 Question Id : 4509386434 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If m and M denote the mean deviations about mean and about median respectively of the data 20.

5.15.2.7. 3. 11 then the mean deviation about the mean of m and M 13
20, 5, 15. 2. 7. 3. 11 0 o 08 DT @0806:00 D0k HOMD
0380 0 0 D5 DIOTOD m HOAM M D, m DB M)

¢ 9085063500 D0 110) D56 DTHOO

Options:
1
1.+ 7
38
2.8 7
36
g

3. %
37

4. %

Question Number : 35 Question Id : 4509386435 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 7 different balls are distributed among 4 different boxes. then the probability that the first box

contains 3 balls 1s
7 D) 20eD 4 D) DBOS S NS THAS, I DVS' 3

2068 GOCETS N02TI5ed



Options :

35 (3)3

128 \4
1. ®

35(3)4

64 \4
2.

3y

8 \4
3. %

Q)

16 \4
4,

Question Number : 36 Question Id : 4509386436 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Out of first 5 consecutive natural numbers, if two different numbers x and y are chosen at
random, then the probability that x* — y* is divisible by 5 is

NG 5 DD B A0S DOG TOR D) DOVLEN 1, ¥ O
AT IE0M ) $0D), x* - y* 90 5 D 2 N0DAGEPRS () d02redseh

Options:

2
5



L]

3.+

Ul

Question Number : 37 Question Id : 4509386437 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A bag contains 2 white. 3 green and 5 red balls. If three balls are drawn one after the other

without replacement, then the probability that the last ball drawn was red is
2,8 HODES 2 8O, 3 390 HBAW 5 NG 20D §O). 32 0B SO
B63800T 28 T Bared HEE 20 L 20HOD BRI, VSO

B 208 IO FHFAS D023

Options :
2
3
1. %
3
4



|G

3. %

4. &

Question Number : 38 Question Id : 4509386438 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

There are 2 bags each containing 3 white and 5 black balls and 4 bags each containing 6 white
and 4 black balls. If a ball drawn randomly from a bag 1s found to be black. then the probability

that this ball 1s from the first set of bags 1s
2578263 3 BOY), 5 IO D0EN SR 2 HoHEN D0 2,525 6 BOR), 4
JOR 20600 SN 4 0N G0N, AITFGYDISOT 28 oW HOG RN

28 208 JOAGD BOR, 8 208 GG 0O IVSBSAD THEE

NOTARNTG)
Options:
25
1 % S
2h
41
2. ¢
2
5



| ow

Question Number : 39 Question Id : 4509386439 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If two cards are drawn randomly from a pack of 52 playing cards. then the mean of the
probability distribution of number of kings 1s
52 DEEen H0 28 DL Dod Tod DY SO airdyd)som

fo vy y o, v, A~ : " 'y
3 0n0) )8, T°2) QODS ABNS] NO0TPRISET Q2PB0 CINE) Q05NN

Options :
215
221
1. %
13
2. ¢
188
221
3. %
13
4, %

Question Number : 40 Question Id : 4509386440 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

In a consignment of 15 articles, 1t 1s found that 3 are defective, If a sample of 3 articles 1s chosen

at random from it. then the probability of having 2 defective articles 1s

15 SDHeNie 28 Garer JHHS AT SDHen SR ON G
ST, TADOG ATFGIEOT 5 NI 0 a8 TONO oD
D) S0P, 0SS 2 5e0e)eN a7 SO GOETNE H0eTze

Options:
250
625
1. %
64
625
2. %
128
625
3.4
512
625
4, ®

Question Number : 41 Question Id : 4509386441 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If a variable straight line passing through the point of intersection of the lines x -2y +3=10
and 2x — y — 1 = 0 mtersects the X, Y - axes at A and B respectively. then the equation of the

locus of a point which divides the segment AB in the ratio =2 3 15
x-2y+3=0, 2—y—1=0 ¥Be) Docdd Dochay thom F¥ah 2.8 60D
JBEBD X, V-850 SHT A HOC B © ¢ 20AR), Tar Dok AB

~2:3 0986 225203 Doched B Do HNEBm0

Options:

14x2% + 3xy —15y2 =0

1. %
xy = 14x + 15y
2. %
2 +xy—y2=0
3. %
14x + 3xy — 15y =0
4. &

Question Number : 42 Question Id : 4509386442 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Pomnt (—1,2) 1s changed to (a, b) when the origin 1s shifted to the point (2, —1) by translation of
axes. Point (a, b) 1s changed to (¢, d) when the axes are rotated through an angle of 45° about the
new origin. (c,d) is changed to (e, ) when (c, d) is reflected through y = x. Then (e, f) =
FOD0DYD  r0sS @8BS ot Do)  (2-1) SO
203000 (~1,2) oY (a,b) T SPB0EA. dehed PO DO
©TON 45° §0S |F:DHE0 BRI (a,b) DO (c,d) ™ SrB08. y=x
50 (c,d) Q [S3200DN (¢, d) Do) (e, f) T 7608, @936 (e, f) =

Options:

(0,3v2)

(3v/2,0)
3. %

(1,2)

Question Number : 43 Question Id : 4509386443 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The pomt (g, b) 1s the foot of the perpendicular drawn from the point (3, 1) to the line

x+3y+4=0.1 (p,q) 1s the image of (a,b) with respect to the line 3x — 4y + 11 = 0. then
A A

a+b_

(3,1) Do) HOG x + 3y +4 = 0 09 DS ©02FS0 (a,b) Do),

31 — 4y + 11 = 0 39 (93l (a, b) B0 (DSD020 (p, ) WONS, % +% =

Options :
—3
1. %
—5
2. ¢
2
3. %
7
4, ®

Question Number : 44 Question Id : 4509386444 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A ray of light passing through the point (2, 3) reflects on Y-axis at a pomnt P. If the reflected ray
passes through the pomt (3,2) and P = (a, b) then 5b =
(2,3) Dochay thom &3 2.8 0 889630 Y-850 P &3 Dochs) S8 dordo
oS08, o086 T, (3,2) Dothey Hom Fod HBAW P = (a,b) ©ONS,
b=

Options :



1. #

a—13
2. #

a+13
3.

at+b
4, &

Question Number : 45 Question Id : 4509386445 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The area (in square units) of the triangle formed by the lines 6x* + 13xy + 6y* = 0 and
x+2y+3=01s
6x% + 13xy + 6y% = 0000 x + 2y +3 = 00DOS IO)T |B2HEB0 GB0E) ITO)50
(5¢305) PR

Options :
9/2
1. %
45/4
2. %

QXB



45/38

Question Number : 46 Question Id : 4509386446 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The angle subtended by the chord x + y — 1 = 0 of the circle x% + y? - 2x + 4y + 4 = D at the

ofiglil 18

x4 y2 = 2x 44y + 4= 0 S0 QY 275 x 4y — 1 = 0, ArODONY SO T

8’00

Options :

6
cos™?! (t)
V34

oA

2
cos™ ! (t)
V13

wl A



Question Number : 47 Question Id : 4509386447 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let P be any point on the circle x?+y% =25. Let L be the chord of contact of P with respect to the
circle x%+y% =9. The locus of the poles of the lines L with respect to the circle x*+y* =36 is

1492 =125 )80 P B 28 D0a). x4y2=9 Gyals P B8 )8 L.

Options:

y2= 20x
1. %

2 N },2_

9 36
2. %

x24+y2=400
3.+

xE g

25 16
4, %

Question Number : 48 Question Id : 4509386448 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the circles § = x?+y? — 14x+6y+33=0 and §'=x2+y?> — a®=0(a € N) have 4 common
tangents then possible number of values of a 1

DTN § = x24y% — 1Ax+6y+33=0 NGO §'=x24y2 — a2=0(a € N) &0 4 )
3)8) 520 80 0D, a 30 FPE5DTE eNe) oS

Options:

13

4. &

Question Number : 49 Question Id : 4509386449 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the area of the circum-circle of triangle formed by the line 2x + 5v 4+ @ = 0 and the positive

coordinate axes isz?Tn sq. units, then |a| =
20+5y+a=0 &3 09 G AFITFTOS 80T (@220 Y H85S
ITO50 % 036569 CFABS, ©9:))¢h lal =
Options :
25

1. %

2.



10

400

Question Number : 50 Question Id : 4509386450 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The circle § = x%4y? — 2x — 4y+1 =0 cuts the y - axis at A, B (OA > OB). If the radical axis of

S=0and S = x*+y* — 4x — 2y+4=0 cuts the y - axis at C then the ratio in which C divides

ABis

§ = x%4y? - 2x - 4y+ =0 B0 y- OFTR) A, B © 56 OGN0 (0A > OB). $=0

B0 §' = x2452 — 4y - 2y+4=0 59T O SrerE 0y - BFR) € 5P POAN AB D

C DOGOT A )&

Options :

7 + 243: —7+2v/3



Question Number : 51 Question Id : 4509386451 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If the circle S = 0 cuts the circles x?+9% — 2x+6y=0,x>+% — 4x —2p+6=0and
x3+9% = 12x+ 29+ 3 =0 orthogonally. then equation of the tangent at (0. 3) on S=01s
§=0 990 x%+ 5% — 2+ 6y=0,x%+y — 4x — y+6=0.080D
y

2432 = 120+ 29+ 3=0 SYTON ©02O0T DOAR, B:99B0 § =03 (0, 3) Do)
56 8967 B2 dad&dea0

Options :
x+y—3=40
v =3
2.
x =0
3. %
r—ypd=d
4, %

Question Number : 52 Question Id : 4509386452 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The normal drawn at a point (2, —4) on the parabola y = 8x cuts again the same parabola at

(e p) then a+f =
(2, -4) 38 y? = 8x DTHOOTRS e @02 3 BOA ©F HTOAFR) (0. )

oV)C;J 2})0(?9?\} atp =
Options:
3
1. %
16
2. %
24
3. %
30
4.

Question Number : 53 Question Id : 4509386453 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2 2
W . :
If a tangent of slope 2 to the ellipse < + F_] touches the circle x*+y* =4, then maximum
a

value of ab 15

2 2
Z—2+ i’—zfl B Sy 2 st 1) 09)5302 x2+y2 =4 SR 9T, ab T0E)
(185 DENS

Options :

4



2. %
5
3.¢
.
4. %

Question Number : 54 Question Id : 4509386454 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The locus of the mid points of the chords of the hyperbola x* — y* =a® which touch the parabola

v =4daxis
y2=dar JTIO0TR) )30, 12—y =a® @6 Hoeaho A &Pie N

20O DONGO

Options :

x(y? —x?) = ay?

1.4

x(x%+y?) =y*x



Question Number : 55 Question Id : 4509386455 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2

7 un - ,
If the product of eccentricities of the ellipse };—6 + ‘;—2=1 and the hyperbola % = '1—6= — 115 1. then

2 2 2

2 o o — L af
—+2=1 08 Hydo HBa --7= -1 @8 Hoodro a8 G0l

©20 1 90N\, b=

Options :
12
25
1. %
144
2. ®
25
3. %
144
25
4.

Question Number : 56 Question Id : 4509386456 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
If A(1,2,0),B(2,0,1),C(-3,0,2) are the vertices of A ABC, then the length of the internal
bisector of ZBAC is
A(1,2,0),B(2,0,1),C(=3,0,2) & AABC T3%) FTOONS, BAC TE) ©0S

NeE 3DOCES T §7ched

Options :
3v6
1. %
214
3
2.
6v14
3. %
26
3
4, %

Question Number : 57 Question Id : 4509386457 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The perpendicular distance from the point (—1,1,0) to the line joining the pomnts (0,2,4) and

(3,0,1) 1s

(=1,1,0) Dochey Do& (0,2,4) HBA (3,0,1) Dochyod 0% TR e

O0AT00

Options:



10

1. %
25
2. ® 2
5
V2
3.
8
4, %

Question Number : 58 Question Id : 4509386458 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A line L passes through the points (1,2,-3) and (3,3,—1) and a plane m passes through the

points (2,1,-2),(-2,-3,6),(0,2,—1). If 4 is the angle between the line L and plane . then

27 cos? 0 =

L 9% 28 00D (1,2,-3) HOAW (3,3,-1) Dochaye thom ¥edod SHBOWH n

o 28 800 (2,1,-2),(=2,-3,6),(0,2,-1) HoY® How Fehod. S&&0 L

00 B0 1 © NS §E0 § WONS, 27 cos? § =

Options :

-2
h



-2

Question Number : 59 Question Id : 4509386459 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

; x3 — 27
M e
x—3 x2—9
Options:
1. %
2.

3
3. %

2
4. ®

Question Number : 60 Question Id : 4509386460 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

i _ |3ax-2b, x>1 , . . _ :
If f (X) = [ax b+l x<l and ilﬂ}f (x) exists, then the relation between a and b 1s

f()() = [3a;x—2b, 2L B0 lim £ (x) 5350650 ©ONILNS, a HAK b ©

ax+b+1, x<1 -1
DES 00

Options:

3a—2b=1
1. %

2= 3h="1
2.

2a+3b=1
3. %

2a4+3bh = —1
4, ®

Question Number : 61 Question Id : 4509386461 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- )
The function f(x) = {E <3

5—x, x=3

flx) = {Hf’ ;2 O (DADO

2
h—x,

Options :



left discontinuous at x = 3

x = 3 98 D8N DDISY0
1. ¢

left continuous at x = 3

X = 3 Q) DD @D )0

2. %
right discontinuous at x = 5
x = 53R B0 D3N 0
3. %
discontinuous at x = 5
x =500 DY) 0
4. %

Question Number : 62 Question Id : 4509386462 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. , o , , L d2x (dy\®  d?y
If y = f(x) is a thrice differentiable function and a bijection then —|(—| +—=
' dy? \dx dx?

y=f() OO e @800003D; Wcho DB Hhe

Sogatz(e) 1B
HRDOHDS " (dx b

Options :

ot
|



—V

4. &

Question Number : 63 Question Id : 4509386463 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
x%sin (E) e I
f{x) = * : Which of the following is true?
0 o =0
x%sin (3) o & EB ;
flx) = g 900d , & 508 ¢3S DO D207
0 , x=0
Options:

f(x) is continuous and differentiable if 0 < o < 1

0 < a< 1008, f(x) @DDIE)0 B0 @HEHIONO.

f(x) is discontinuous and not differentiable if 0 < @ < 1

0<a<1eod, f(x) DDI)0 HOAN ©IEHAANO 5.



f(x) is continuous and differentiable for & > 1

a > 10N, f(x) @IS0 HB0 e9:55HJAHO.

f(x) is discontinuous and differentiable for « > 1

a > 10NB, f(x) DDI8Y0 HBA @SIEHONO.

Question Number : 64 Question Id : 4509386464 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let f(x) = min {x, x?} for every real number of x. then

(€3 e DODS x Y, F(x) = min {x, x2} OOV

Options:

f(x) 1s continuous for all x

Q) X DENIOZY, f(x) @IV IO
1.4

f(x) is differentiable for all x

@) x DENIOK, F(x) @S5EHAANO

Fx)=2ovall % =1

D) X > 1 DENIOZ, f'(x) =2
3. %



f(x) is not differentiable at three values of x

x A30E), ST DeNded 58, F(x) @55H0NO 5°CH

Question Number : 65 Question Id : 4509386465 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ify=(1+a+a’+...)e™, where « and n are constants, then the relative error in y is

@ B0 n O VIV0PEY @O y = (1+a+at...)e™ ©oNd, y S 9l

error i x

x &S 830

percentage error mn x

X r:“f S o) FEHO

2. %
n. (error in x)
n.(x S £:20)
3.
n. (Relative errorin x)
) ;
n.(x S T8, SS&D}
4. %

Question Number : 66 Question Id : 4509386466 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the equation of tangent at (2,3) on y% = ax® 4 b is y = 4x — 5. then the value of a? + b% =
(2,3) 9@y = 4x — 5 R y? = ax® + b 08, )80 WANS, a? + b2 =
Options:

51

58

Question Number : 67 Question Id : 4509386467 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If Rolle’s theorem is applicable for the function f(x) = x(x + 32)3_"\:/ 2 on [-3,0]. then the value
ofcis
f@) =x(x+3)e 2 (HHATAE [-3,0] DS 8O F0S0 @IGodndS, ¢

0305, 2)eNe)

Options :



3and — 2

3 o000 — 2
2. #

o)
3. %

-l
4, #®

Question Number : 68 Question Id : 4509386468 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For all x € [0,2024] assume that f(x) is differentiable, f(0) = —2 and f'(x) = 5. Then the
least possible value of £(2024) 1s

[0,2024] S x B0, ©) DEVIOLY, f(x) OSEOAANO, £(0) = -2 SHBAM

F1(x) 2 50 800, ®:) £(2024) 5 50005 E0a NV

Options:

10.120
10.118

2.

10,122

2024



Question Number : 69 Question Id : 4509386469 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

X =

J' 2x? cos(x?) — sin(x?)
2

X

Options :
sin(x?)
e
52
1. %
cos(x?)
TR
X
2. ®

sin(x?) + ¢

sin(x?)
—+ec

Question Number : 70 Question Id : 4509386470 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



-log (1+x%)

If | Td =i }log( ))-an 1(1{:x))+ ¢, then h(x) {f(x}-l—fe)] =

J ]Dg(m f(\)log[ )-I—tm (h(x)) + ¢, @AW h(x) {f(,&:}-l— fe)]:
Options:

h(x)g(—x)

g(x)

2.

g(x) + g(—x)

g(x)h(x)

4. %

Question Number : 71 Question Id : 4509386471 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let (x) = [ ey 46 L3 =—10g( )rhenf(

FO) = [ gy SDEOTH. F(3) = —log[)@m‘@‘ £(0) =

Options:

1l (1)
1 °8\3

1.



2. #®
1 (0
2 Dg(a)
3. ®
og ()
Dg 3
4, #®

Question Number : 72 Question Id : 4509386472 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

f 2 cos 2x dv —
J (1 +sin2x)(1 + cos 2x) B

Options :

2tanx + log(1 + tanx) + ¢

1. %

tanx — 2log(1 + tanx) + ¢
2. %

2log(l+tanx) +tanx + ¢
3. %

2log(1 +tanx) —tanx + ¢
4. &



Question Number : 73 Question Id : 4509386473 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
X 2
o) -
XCosX —sinx
Options :
X cosecXx
: + cotx + ¢
XCOSXx —sinx
1. %
X COSec x
, —cotx +c
XCOSX —sInx
2.9
X COSec X
: +eoolx 4
XCOSX +sInx
3. %
X
: —cotx + ¢
XCcosx —sinx
4, %

Question Number : 74 Question Id : 4509386474 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If lim [(l -I-H—lz) (1 +r;i2) (l + %) (1 + :—D]% =qe? thena+ b =

n—aoo
1
2

lim [(1 +ni)(1 +ni;)(1 +n12) (1 Jr:f—z)]H — ge? ©ONS, a + b =

n—oo
Options :

m— 2

m+ 2

ra| =

Question Number : 75 Question Id : 4509386475 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T
[ x sint*x cos®x dx =
0

Options :
3n?
512
1.4



256
ITZ
256
3. %
ITZ
512
4. %

Question Number : 76 Question Id : 4509386476 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
L = ij‘t tan™x dx, then I3 + I;; =
n— Jg iy 13 11 —

s
I, = fu /4 tan™x dx @O, I3 + I;; =

Options:
13
1. %
1
12
2.
1
10



Question Number : 77 Question Id : 4509386477 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The area (in sq. units) of the smaller region lying above the X-axis and bounded between the
cicle %+ y? = 2ax and the parabola y* = ax is
a2y =2ax R0 OO Y =ar JTIOCTO DS HOVH HBOIN

X950 308, 3 270 60T 55 (HBH0 B0E) FTO50 (16 AT

Options :

Question Number : 78 Question Id : 4509386478 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The difference of the order and degree of the differential equation
- ()=0s
dx? ax3 dx? art) »

EE @) (@) =0 o8 osson shiteo aug, s0imo
BN @) B0E) )

-7/2 -5/2

dx3 dx? dx*

Options :

3
1. ®

3
2. ®

4
3. %

2
4,

Question Number : 79 Question Id : 4509386479 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If xdy+ (y+v3x)dx =0and y = 1 at x = 1, then

xdy + (v + y2x)dx = 0 D800 x =158 y =1, ©one

Options :



y=—
" 1+4logx

1. %
1+logx

Yy =—

) 5
2. %

vy =x(1+logx)
3. %

1

V= — :

' x(1+4 logx)
4. &

Question Number : 80 Question Id : 4509386480 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The solution of x dy — y dx = \/x2 + y? dx when y (V3) = 11s

v (V3) = 1 ®a0S) ) x dy — y dx = /x2 + y2 dx, B0EY A
Options :

v24 2 +y?=x>2

5y —Jx2 +y2 = x?



y : -\v-'llfz + }72 = .\'2

5y —Jx2+y2 =x

4, %

Physics
Section Id : 450938139
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40 40

Section Marks :

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
. -.
Is Section Default? : null

Question Number : 81 Question Id : 4509386481 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The percentage error in the measurement of mass and velocity are 3% and 4% respectively. The

percentage error in the measurement of kinetic energy is

2,8 SNy TG ($6550%8 EOBS’ 3% BATS0 HOAN NS 4% SdFedo

o

NS, T (3338 oSS B0

Options:



11%

1.4

12%
2. %

14%
3. %

8%
4. %

Question Number : 82 Question Id : 4509386482 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A car travelling at 80 kmph can be stopped at a distance of 60 m by applying brakes, If the same

car travels at 160 kmph and the same braking force is applied. the stopping distance is

80 kmph 08 D00t 28 56 Zen 3 60m ArdoS sNatSo.
33 58 160 kmph S0 |DOIPES0DS, T 2008 [BHe0 Ty 5 e
el

Options:

240 m
1.4

170 m

360 m



480 m

Question Number : 83 Question Id : 4509386483 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A 2 kg ball thrown vertically upward and another 3 kg ball projected with certain angle (6 # 90)

both will have same time of flight. then the ratio of their maximum heights is

2.5 2 kg 208 AQVYTD, T 3 kg 2087 §0eb §e0 (8 # 90) Sy (28220

TSI a3 FHSERE DSRS0, WS o763 (105 IO S

Options :

2: 3
1. %

32 2
2. ®

V3: 2
3. %

j 3 |
4.«

Question Number : 84 Question Id : 4509386484 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a sport event a disc 1s thrown such that 1t reaches its maximum range of 80 m. the distance
travelled in first 3 s is (g = 10ms ™)

S SFES 28 AR & 80m 465 752 GOBALD VT, VOB b &) 3
%hed T drdo (g=10ms™?)

Options :

80 m
1. #

60 m
W

72 m

74 m

Question Number : 85 Question Id : 4509386485 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A block of mass 18.5 kg kept on a smooth horizontal surface 1s pulled by a rope of 3 m length by

a horizontal force of 40 N applied to the other end of the rope. If the linear density of the rope 1s

0.5 kem ™ ‘and initially the block is at rest. the time in which the block moves a distance of 9 m is
28 )A § 832 AP0 003 GotIRG 185 kg (3035073 110 2,8 D 3m
sy o @B 8, @ch HTE T3% 40N §83 darodd 200 (HEFAOD
TP, e OO RFOICS 0.5 kem™! OO Sened A AT VAS G0B,
B 9m ErE0 Eentsy HE Fe0

Options :

1.



3s

\._}-?

58
2. ®

73
3. ®

9s
4. %

Question Number : 86 Question Id : 4509386486 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A Dlock of mass 1.5kg kept on a rough horizontal surface is given a horizontal velocity of

10 ms™ L. If the block comes to rest after travelling a distance of 12.5 m. the coefficient of kinetic

friction between the surface and the block is (Acceleration due to gravity = 10 ms™%)

28 115050 § 322 3eiroedd 50107 &0t 1.5 ke (335073 0 2,8 050 10 ms ™
§ 898 Noiroehy JPRY ISR, B} 125 m ErG0 (AT eared

o Y8 DO, Serdd Hooky A wdsie fes dde oo

(e & 56€a0 = 10 ms™2)

Options :
0.2
1. ®
0.4

2.



0.8

0.6

Question Number : 87 Question Id : 4509386487 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A force of (6x% — 4x + 3) N acts on a body of mass 0.75 kg and displaces it from x = 2m to

x = 5 m. The work done by the force is

0.75 kg |69 T8 HE) oo od) 3 (61% — 4x + 3) N OO A D SNedid x = 2 m DOG

x = 5m 8 25030 TOAOTD. 200 90 280 )

Options:

201]
1. %

215]

229 ]

307 ]

Question Number : 88 Question Id : 4509386488 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A ball falls freely from rest on to a hard horizontal floor and repeatedly bounces. If the velocity of
the ball just before the first bounce is 7 ms™* and the coefficient of restitution is 0.75. the total

distance travelled by the ball before it comes to rest is (acceleration due to gravity=10 ms2)

2,8 208 7% Q8 HOG VI G 2.8 § 2 DTS 07 I O
) T 98 2 BTeh. 208 08 2P0 Berd) &S §00 0 T M0
7ms™ SO0 (DT (DEIS0 0.75 ONS, & 20 AT Ve § THHRNOS,
90 |DOSTEI0 T SNB0 g0 (DX § ¢ 3060 =10ms™?)

Options :

10.75 m
1. #

9.75 m
2. ®

8.75 m
3.

11.75 m

Question Number : 89 Question Id : 4509386489 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A solid cylinder rolls down an mchined plane without slipping. If the translational kinetic energy of

the cylinder is 140 J. the total kinetic energy of the cylinder is
28 a0 A0 28 a7 00 ) OO DTN A, A0 B8} ' roSde
(532343 140 7 9000 (%0 G30E) 0o HedesdS

Options :



10517

21017
3.

28017

Question Number : 90 Question Id : 4509386490 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two blocks of masses m and 2m are connected by a massless string which passes over a fixed
frictionless pulley. If the system of blocks 1s released from rest. the speed of the centre of mass of
the system of two blocks after a time of 5.4 5 15

(Acceleration due to gravity = 10 ms?)

B550He0 m HBAD 2m Ko Toth BOD Ml B VY Ea) ST
Py a8 BOTS TE0S EOF. AO S50 VT P& DO SHE,
545500 ST ORI e Y (O30 T0[30 S

(e § ¢ 6¢5e0 =10 m 57)

Options :

6 ms™!



4ms
%

12 ms!

Question Number : 91 Question Id : 4509386491 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The displacement of a particle executing simple harmonic motion is y = Asin(2t + ¢) m, where t
is time 1 second and ¢ 1s phase angle. At time t = 0, the displacement and velocity of the particle

are 2 m and 4 ms™*. The phase angle. ¢ =
DY 2P0 00 DO, 2.8 860 TS25040 y = Asin(2t + ¢) m, 28 CH t
500 KD B0 ¢ SFER0. 500 t= 08¢ 880 F|$030 HBAM SHo

T 2 m OO 4 ms ™2, 7 8620, § =
Options:

60°
1. %
30°

45°

90°



Question Number : 92 Question Id : 4509386492 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The displacement of a damped oscillator is x(t) = exp (=0.2t)cos (3.2t + 0) where t is time in
second. The time required for the amplitude of the oscillator to become — times its nitial
o

amplitude is

2,8 @588 Ge¥o Bty TZ070 x(t) = exp (~0.2t)cos (3.2t +0), B t OO
i oy 00 v, V. oo 1 )

280 Bedo 035 NS T 8O oS HODSS — O e

NS0

Options :

8s

Question Number : 93 Question Id : 4509386493 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Maximum height reached by a rocket fired with a speed equal to 50% of the escape speed from the

surface of the earth is (R — Radius of the earth)

2473 GBBO0 0B HEP0DS SAS 50% S5 PSS SES 2.8 T3 O
208, 00 TS (1622 A R - 2irarsrdo)

Options :
R
2
1. %
16R
9
2. ®
R
3. 2
R
8
4, %

Question Number : 94 Question Id : 4509386494 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the work done 1n stretching a wire by 1 mm 15 2 ]. the work necessary for stretching another wire
of same material but with double radius of cross section and half the length by 1 mm 15

2,8 1% 1mm FHOONES 200 I 2] @RS D05y DT Fsrdein
0050 S0 s EOR, &7 A0S ToHAS T 3% 1 mm FHAKEHS'
DOHIOVN DA

Options:



16]

1.¢
8]
2. %
4]
3. %
1
ol
4. %

Question Number : 95 Question Id : 4509386495 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If S;. S, and S5 are the tensions at liquid-air. solid-air and solid-liquid interfaces respectively. and

6 1s the angle of contact at the solid-liquid mterface. then

Sy, S, DBAM S3 SO (B30T, DANTFO-TE HOON NINTE0-3:30
a0 BEPO 50 GOT B3eeN, OO MNNTYOSS0 Gl B0 3¢
9163820 6 NS

Options :

Sycosf + S,sinf = Sy

Sicosf@ +S3 =5,
2. %



S,cos8 +5; =5,

%

Szcosf + 5, =5,

Question Number : 96 Question Id : 4509386496 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If ambient temperature is 300 K. the rate of cooling at 600 K is H. In the same surroundings. the

rate of cooling at 900 K is

HBITe) 5|11 300 K &e5):30h, 600K O 950808 Ben H o7 H0dTed
900 K 3¢ 365050 B

Options :

16 s

%,
1.+

2H
2. ®

3 H
3. %

= H
4. % .

Question Number : 97 Question Id : 4509386497 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An ideal heat engine operates in Carnot cycle between 127 °C and 27 °C. It absorbs 5 x 10* cal of

heat at higher temperature. Amount of heat converted to work is

2,8 836508) GaaaH0[B0 127°C B0 27°C © eds 6 B0 HATD0E. 30
2908 o611 236 5 x 10 cal 5035 |ar) 08, NS AT a0 el Baired0

Options :

4.8 x 10%* cal

1. %

2.4 x 10* cal
2. ®

1.25 X 10* cal
3. ¢

6 % 10% cal
4, #®

Question Number : 98 Question Id : 4509386498 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: d 5 .5 ; , 4 5
One mole of a gas having Y = ol mixed with one mole of a gas having y = 7 The value of y

for the mixture is (y is the ratio of the specific heats of the gas)

j g 00 &8 IS TGy = g ORS 2,8 IO POe)S EOFD. &0
€3 (300 GRVES ¥ DN (y — PO DBEFIFO )



Options :

5

FT
1. %

11

15
2. %

15

11
3. ¢

5

13
4. %

Question Number : 99 Question Id : 4509386499 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A Carnot heat engine has an efficiency of 10 %. If the same engine is worked backward to obtamn

a refrigerator. then the coefficient of performance of the refrigerator 1s

28 56 60H00 10% GESSD DR &08. 8 ) ahoBo, FBOE0
OHOLSOT T8 AT, ISOEe ahoBo Twg} Sasrdes Heago

Options :
3
1. %
9

2.



Question Number : 100 Question Id : 4509386500 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The rms velocity of a gas molecule of mass ‘m’ at a given temperature 1s proportional to
e T4 1 T = ; b T
00 &|ifed 9O m’ (3655073 110) PO EENR) ThE) rms (e 1§08 S TS

€. Gy ob
DS ITNTHOS YOLNOE?
Options :

m*

m

Question Number : 101 Question Id : 4509386501 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The speed of a wave on a string is 150 ms™* when the tension is 120 N. The percentage increase

in the tension 1 order to raise the wave speed by 20% s

S5 120N Ko S0 BS S0l S& 150 ms™h S50 SBoK & 20%
20000, o[BS 10 e DOVSONS T
Options :

e
1.4

40

22

20

Question Number : 102 Question Id : 4509386502 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The minimum deviation produced by a hollow prism filled with a certamn liquid 1s found to be 30°.
The light ray 1s also found to be refracted at an angle of 30°. Then the refractive index of the liquid
15

500 HETRY 2,8 |5H0S A0S, 7R Eak NI §eao 30°. 508 30° 6905
585950 ToOS, 8 (¢5:50 Gg, &S theado

Options :

V2
1.4



2. ®

5

\[2
3. ®

3
4% 2

Question Number : 103 Question Id : 4509386503 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In Young's double slit experiment, the intensity at a point where the path difference 1 i (A being

the wavelength of the light used) is I. If [, denotes the maximum intensity. I / | isequal to
0

ohofi zoty D5 (A0S, % MBG0 o Doy SG Sl I
(1- SN0 08 T S0 TE50). [ 9O (18 BSe5eD ), ! fi. =

Options:



4. &

Question Number : 104 Question Id : 4509386504 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two particles of equal mass ‘m'’ and equal charge 'q are separated by a distance of 16cm. They do

: g - s : o
not experience any force. The value of =1 (if ‘G’ 1s the universal gravitational constant
m -

and ‘g’ 1s the acceleration due to gravity).

Ded|ed508 . s €340 ‘g’ EORS Boch Seren 28T 16em Erdod
G0N, @) Jerod 267§ SeFBS. D sHNS: DTosn @ B0
(D6 56 ¢ ‘g’ WONSB, ~— HEN)

m

Options :
\a4megG
1.+
G
\Jﬂlm_fu
2. %
Teg
G



J dmegyg
4. %

Question Number : 105 Question Id : 4509386505 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In the following diagram. the work done in moving a point charge from point P to point A, B and
C are Wy, Wp and W, respectively. Then
(A. B. C are pomts on semicircle and pomt charge q is at the centre of semicircle)
2,8 Doch 83T0) H0S Wred P Dotk o 4, B oo ¢ Hochyo
508 SDKTHAE0S 26T DD SEIT W, Wy OGN W, 90 (4, B,C €0 &

D980 2 Hochyen HBAM ©Y B0 hiehs Do) 56 Dot 8340 q &) O)

b [

Options :

Wy=Wz= W; =0
1.4



Question Number : 106 Question Id : 4509386506 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Four condensers each of capacitance 8 pF are joined as shown in the figure. The equivalent

capacitance between the points A & B will be

2,535,638 F TrDI) A0 Tout Sared 008 wrad DG Sogrso
DODDATON. A HOO B Do) D3 s SFVBIR) 0eh?

Options:

32 puF

Question Number : 107 Question Id : 4509386507 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The resistance between points A and C 1n the given network 1s

80 DD 980 SR F557 S A HOA € NSO 53 AF S0

R
"H-eﬁv"".i
| LR
AL AM——AN—— €
R B| R D
AW\
R

Options :

R
4

o | =

2R
3. %

4. &

Question Number : 108 Question Id : 4509386508 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A steady current is flowing in a metallic conductor of non-uniform cross section. The physical

quantity which remains constant 1s

9308 BT FTo0 d0 a8 o) T & G S

Rar) WS, IO 0T 588 T3
Options :

Electricity current density

NS Dy PO(CHed

1. ®
Drift velocity
1&e Jifo
2.% T2
Electricity current density and drift velocity
DENSS (DT PO|Hed DO () S0
3. % i
Electric current
" DS [2063°0°0

Question Number : 109 Question Id : 4509386509 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A wire shaped in a regular hexagon of side 2 cm carrtes a current of 4 A, The magnetic field at the

centre of hexagon s.
2,8 818 B02¢80)8 B80S 8 ST03:9,)68 TR 2020 8°¢Y) 2 cm, RO 4A
DS 3eT0A. BONS )2 0G0 3G OHT,0 § 507

c d

Options :

43 %1075 T
1. ®

8vV3x 107> T

VS I e

6vV3x 10> T
4, ®

Question Number : 110 Question Id : 4509386510 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A tightly wound cotl of 200 turns and of radius 20 cm carrying current 5 A. Magnetic field at the

centre of the cotl 1s

200 LY, 20 em TGOS DT DHAS a8 SIS A AchsS
2):55P00. ®0NE St 30130 0 eaHF08 (0.

Options :

314x10°3T
1.9

314 % 10727
2. ®

628 x 1074T

6281073 T

Question Number : 111 Question Id : 4509386511 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The domain in ferromagnetic material 1s in the form of a cube of side 2 pm. Number of atoms in

that domain is 9 X 10'® and each atom has a dipole movement of 9 X 1072 Am?. The

magnetisation of the domai is (approximately)

2,8 TR0 08 HE BDE S 2 im 920 FEHIO DTEYBS &) 0. &
ERS S 9x 1010 HSrenyen 283863 9x 107 Am? H5SSB05R) §0)
GOT), (1800 A3 aN; B BONAL0BEBEI0 (DSPH)

Options :

1.4



10 x 10* Am™?

8 x 10* Am™!

2. ®

12 x 10* Am™?
3. ®

9x10* Am™1
4. &

Question Number : 112 Question Id : 4509386512 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Magnetic field at a distance of r from z axis is B = B,rtk present in the region. By is constant and

't 15 time, The magnitude of induced electric field at a distance of 1 from z-axis 1s.

28 |PB0S 280 0f 1 ErdoS @008 3B B = Byrtk &5)0. a8d

By’ DT050 SHO ‘Y 500. @ONS z @0 D0 1 EFE0S (WS IS 3 (68

0760,

Options:
BGI‘E
3
1. %
2w B,r
3



2T
3. %
B,r?
3
4,

Question Number : 113 Question Id : 4509386513 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A sertes LCR circuit is shown in the figure. Where the inductance of 10 H. capacitance 40 pF and

resistance 60 Q are connected to a variable frequency 240 V source. The current at resonating

frequency 1s

2,8 LCR 363 50090 808 traiadod. &S 10 H (D50, 40 iF §036 Hoa

60 © AFG0ON 2.8 240 V 198 sy 2958 00003, o8 e

)50 Q) DS |DaTaFO

R
MW

Options :

4 A
1.4

ZA



54 A

5.8A

Question Number : 114 Question Id : 4509386514 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An electromagnetic wave fravel in a medium with a speed of 2 X 10®ms™. The relative

permeability of the medium is 1. Then the relative permittivity 1s

2,8 OSTS806 AN ODRT, 06 BS0H0 2 X 10°%ms™ SAS (HOTEN0E. €3 O
08 1034 306 1. 90nd & OSrSE 8 20BN

Options :

LS

[

-2
[
Lh

-2
-1
Lh

Question Number : 115 Question Id : 4509386515 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The longest wavelength of light that can mitiate photo electric effect in the metal of work function
9eVis
O (NHOD0 9 &V 0 370 508 DS HOTR) BFH0BEAE BT
Ba) edorf Tds0

Options :

1.37 x 107 "m
1. &

1.5 x 107 "m

3.7x 107 "m

4%10""m

Question Number : 116 Question Id : 4509386516 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A hydrogen atom falls from n™ higher energy orbit to first energy orbit (n = 1). The energy

released is equal fo 12.75 ev. The n™ orbit is

TIEER H0Srensy o 48 Tow &85 0D e 45 Fow &85 m=1)

HBFon0. 263 (80DS 1275 ev e 5§ Dehocse) 20 nth 88 5

Options :

n—4
1.«



=3

2. ®
n—6
3.
=0
4. %

Question Number : 117 Question Id : 4509386517 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The decrease in each day in the Uranium mass of the material i a Uranium reactor operating

ata power of 12 MW is (Energy released in one 4, | *** fission is about 200 MeV)

12 MW © 08508 90 TotHS) e B0 8aFE0 & B2% adAaHo
& 71595077 DS (55U 2 DD TodS 4§ Dbt eadhsd ey
200MeV)

Options:

12.64 X 10~ 2 kg

1. %

11.50x 1072 g
2. %

12.64 kg
3. %

12.64 g

4. &



Question Number : 118 Question Id : 4509386518 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When a signal 1s applied to the wnput of a transistor 1t was found that output signal 1s phase- shifted

by 180°. The transistor configuration is

28 D03 1IN0 AFFWS ©HSs8B0 Ta®, 8 N8B0 1LrIND
Dy TISS) A03B0 EFTBE0S  180° SF) [odS, B 167N
ORI

Options :

CB — configuration

CB — DT

1. %
CE — configuration
CE — Q)%
2.
CC — configuration
CC — D50l
3. %
Both CB and CC — configuration
CB 835D CC DsddnereS
4, ®

Question Number : 119 Question Id : 4509386519 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

: ; H2V
The voltage V, in the network shown 1s

HEOS BP9 0000 STV,

+r g

0.7V 8i 7 3\,\ 2.2V (green)

Options :

Vo =113V
1.+

V, =98V
2. ®

V, =120V
3. %

Vo =07V
4, %

Question Number : 120 Question Id : 4509386520 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A message signal of 3 kHz 1s used to modulate a carrier signal frequency 1 MHz. using amplitude

modulation. The upper side band frequency and band width respectively are

3kHz © e300 H0TE N0Z0ER), 1 MHz 55000 a8 H0T0SSn S
$30( S0 SrcHBE TADDA0A. ihad T3 HE Fredeyedsain HBAM 963
N NN DT

Options:

1.003 MHz and 6KHz
1.4

0.997 MHz and 6KHz

2. ®

1.003 MHz and 3KHz

1.003 MHz and 2MHz
4, %
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Question Number : 121 Question Id : 4509386521 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the ground state of hydrogen atom. electron absorbs 1.5 times energy than the minimum energy

(2.18 %1078 J) to escape from the atom. The wavelength of the emitted electron (in m) is (m, =

9x 1073 kg)

PRBS G5) H HESTENs) JOIFR. H6reDs) DO 20HEH Jensdiersd

SO0 §0 48 (2.18 x1078 1) $0® 1.5 BEY 459 1Er0008. FNSAS JOIFTD

e‘_%éoﬁ@ggo (m 6’)055) (my =9 %107 ko)

Options :
h x 10%*
—
1¢ V 1.962
h
f % 10%°
5 % v1.962
h
X 10%°
v1.962
3. #®
h
w1952
v1.962
4, %

Question Number : 122 Question Id : 4509386522 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A golf ball of mass ‘m’ g has a speed of 50 m s1. If the speed can be measured within accuracy of

2%. the uncertainty in the position 1s
‘m' g © (39508 e 1) 208 o 50 ms™. o FrR)2% S 00 FOSTORSLS,
) T390 'R @b 50

Options :
h
4dmm
1. #
h
16mm
2. ®
h
x 103
Admm
3.
h
—— x 103
lomm
4,

Question Number : 123 Question Id : 4509386523 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the first ionisation enthalpy of Li, Be and C respectively are 520, 899, 1086 kJ mol™, the first

ionisation enthalpy (in kI mol™) of B will be
Li, Be 005 € © (6565 OTVTEAD DOTFO.) €0 AT 520, 899, 1086 k7 mol”

00, B[S OTOTEAS 050 (kT mol! ©F)
Options :

1. %



487

5 % 950
3.0 801
4w 1402

Question Number : 124 Question Id : 4509386524 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which of the following sets of molecules, the central atoms of molecules have same

hybridisation?

1806 @YD HRHOS BAS', @en)© 30165 daren)en 2,8 H088EG0

£8) oSy 7

Options:

NH3s. CIF3
1. %

H>0. 503
2. %

SF4 CHy
3. %

XeFs. IF7

4.



Question Number : 125 Question Id : 4509386525 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The correct increasing order of number of lone pair of electrons on the central atom of SnCly. XeF.
ClF3and SO3 1
SuCl, XeFy, CIFs BN 803 O TOIS8 DOSPEDS) aNE &) 2088 Ok

DOTR © N0DS BT D (Seddon

Options :

SO3 < ClF3< SnCl2 < XeF2

1. %

SO3 < SnCl2 < ClIF3 < XeF?
2.

XeF> < SnCl < ClIF3; < SO3
3. #®

XeF> < ClIF3< SnCl < SO3
4,

Question Number : 126 Question Id : 4509386526 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statements from the following
. Foranideal gas, the compressibility factor 1s 1.0
Il The kinetic energy of NO (g) (molar mass = 30 g mol™*) at T(K) is x ] mol™*. The kinetic
energy of NoOs (g) (molar mass = 92 g mol™) at T (K) is 2x J mol ™"
Il The rate of diffusion of a gas is inversely proportional to square root of its density
808 PSS HBTed arssd HBotdod
L 836) OB D0 Headsn 1.0
I TK)SQNO (g (3rerd 2780 =30gmol ™) ofm’égr (5323 45 x Jmol™. T (K) &)
N204 () (SrerD 270 =92 g mol ™)t 48 2x J mol”
M 28 O 0y TR Foldd SPSrerds DSSrrsd0S

000D

Options :

I II. ITI
1. %

I1. IIT only

1. IIT 557 €H 330
2. ® }

L. IIT only

I, TIT o307 €5 0
3. ¢ R

L. II only

I, I 357 €50
4. %
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Time:0



The following graph is obtained for a gas at different temperatures (T1, To, T3). What is the correct

order of temperature? (x-axis = velocity; y-axis = number of molecules)

28 PO G GaHBe (Ty, Ty, Ts) HG 1808 (M ©DoD0d. &ef|ifde
O (80200 B? (x-098 0 = Bi0; y-98 0 = ©ENH® NOVS)

T3

Ti

T

Options :
Tz=>=Ti1>T;3

1.

Tr=>=T3>T
2. %

T3s=Ti=T>
3. %

Ti=T2>Ti

Question Number : 128 Question Id : 4509386528 Display Question Number : Yes Is Question
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Time:0



Observe the following stoichiometric equation

P4s+30H +3H»O— PH3+ 3x

o

What is the conjugate acid of 7~ 7

80 FPonS (€35 SESETD) HDBBZOOTHHN
P4+ 3 OH + 3H,0 — PH3+ 3x~
X~ O30EY DO €8e00 DE?

Options :

Phosphorous acid

T J0R 3.0

1. %
Hypophosphorous acid
IO YER €300
2.4 = : &
Phosphoric acid
SPF 165 e3e00
3. % ‘
Pyrophosphoric acid
- DOTPF 85 esedo
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Time:0



Given below are two statements

Statement - I: For isothermal irreversible change of an ideal gas. ¢ = —W = Poyt(Vrinar — Vinitiar)

Statement - IT: For adiabatic change, AU = W,giapatic

The correct answer 1s

1506 B0 505N Bd SAFON

T 38T: 28 €585 TON06) ) 0[50 S¢H ).
g==w=F ext(VfI'nai — Vinitial)

520511 DTS LI, AU = Wagigbatie

OOV PAN VI ARN AW

Options :

Both Statement-I and statement-II are correct

3°§3D §-1 oD a3 §§-IT BOCET® DO QD)
1.4

Both Statement-I and statement-II are not correct

3 S5-I D BORN 3§ §-IT BOCET DO DN 5%

2. ¥

Statement-I i1s correct but statement-I1 1s not correct

o $DE-T DO 57 a3 § -1 DB ADAE 5°CH
3. ®

Statement-I 1s not correct but statement-II 1s correct

3°§3D 51 DO 5°CN 5% W S-IT O QDD
4, %

Question Number : 130 Question Id : 4509386530 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A thermodynamic process (B — E) was completed as shown below. The work done is equal to area

under the limits
28 Galfed |N180H B — E) (808 o 238 @onod. 2800 R ) ©he
TS QT IolD?

Options:
A— B—E—>F
T |
1. %

A—a2>B——D2E—3D——=0

s |
2. %

B =1 > D—>FE

4 I
3.¢

B—> G—>E
g5 T |

Question Number : 131 Question Id : 4509386531 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



K. for the following reaction 1s 99.0

T(K)
Ay(g) ==By¢)

In a one litre flask. 2 moles of Ay was heated to T(K) and the above equilibrium is reached. The
concentrations at equilibrium of A and By are C1(A2) and C2(Ba) respectively. Now. one mole of
A» was added to flask and heated to T(K) to establish the equilibrium again. The concentrations of
Ay and B are C3(As) and C4(B2) respectively. What is the value of C3(A2) inmol L7
1508 t98550 Ke )€ 99.0

T(K)
Ay(g) ==1Byg)

28 000 MBS 2 376 © A1 & TEK) S68 AT D INTAB Forrd.
DTV 36 Az SO By Treheden N Ci(Az) DO Co(Br). I 28
S Ay QPSS 0% BOR TK) H65 3G TOHT 2 DTS ©HoN0d.
Q) NDTYB G Ay HEOID By © b AT C3(Az) DGO Cy(By).
C3(A2) Dewsd mol L1006 d0eh?

Options:

1.98
1. %

0.01

0.03
3.¢

=
WO
|

Question Number : 132 Question Id : 4509386532 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
What 1s the conjugate base of chloric acid?
5°65 e3aD0 G30Ey 5°02THE] B0 DE?

Options:

clo;
1. #

clo™

Cl0;

clo;

Question Number : 133 Question Id : 4509386533 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The correct statements among the following are
L Saline hydrides produce Hy gas when reacted with water
i.  Presently ~77% of the industrial dihydrogen is produced from coal
. Commercially marketed HyO; contains 3% Hy0,
1808 PBS’ DB TN
L 00 W B6 0 S D85 SOASYE Hy FOMYNTON
i (DB0 §O 0D ~77% FOFNE B 3PEBM & SOTHTENT) &
i, s r0red o T SrBE0 S 00T H0s. 3% Hi0; & §O anotnod

Options :

1. 11. 111



1. 111 only
i, iii 2307 €Ha0

2. %

i, iii o307 €533

3. %
1. 11 only
4 111 Q373D

Question Number : 134 Question Id : 4509386534 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correct order of decomposition temperature of MgCOj3 (X), BaCO3 (Y). CaCO3 (Z) 15
MgCOs (X). BaC03 (Y). CaC03 (Z) © Qadded g&l(§65€) B |Soddad)

Options :

Y>Z>X
1.4

b

X =LY



Question Number : 135 Question Id : 4509386535 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Identify the correct statements
1. Oxidation of NaBH4 with I gives BoHg
1. BoHgbums i oxygen and releases an enormous amount of energy
ui.  BaHs on hydrolysis gives a tribasic acid
DO P3N HBotdod
i L& NaBHs &8)585690 BaHs Dt )ed
i, BHse8)3Q S 06 @O N850 Gald) O TR0

i,  BoHs 20 DINEI0 TOD (BT BAF) NOH
Options :
1. 11, 111
1. %
1. 111 only

i, iii 0307|530

1. 11 only

i, ii o307(€5 33

3.

i, il o307 €533
4, %

Question Number : 136 Question Id : 4509386536 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Which one of the following is used as piezoelectric material?

1808 73S BA DEDCDES HerGorr s e dd?

Options :
tridymite
B3SO

1. %
quartz

2v TS8E
zelolite
20°8&

3. %
mica
S0S®

4, ®

Question Number : 137 Question Id : 4509386537 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two statements are given below

I Indry cleaning. the solvent Cl,C = CCly was earlier used and now it 1s replaced by liquefied
COy

II.  Inbleaching of paper, H202 was used earlier and now it 1s replaced by chlorine gas

Correct answer 15

1504 BOCH a5 3EN Rod §2C0)a)
L %0 H0 B0, 850 ChC = CCh & [TSST GIBPAOTIH 50
B0 AR N (5 EFH0 SR €02 o) e &
I SO D530 TAE0ES, 0650 H0p & GoErAoBT o £ (0
B 2N SO FANYRD ey &
NGIOWINEVEN
Options :

Statements I. IT both are correct

D EWEEN L II TOCL DO

Statements I. IT both are incorrect

Q°55EN L I BOCH DB 5%

Statement I 1s correct but statement II is incorrect

- WS T ABADE 570 752§ I DEADAE 57

Statement I 1s incorrect but statement IT 1s correct

OPEWE T AN 5°CD 5% P EWE IT QAR

Question Number : 138 Question Id : 4509386538 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Tropolone 1s an example for which of the following class of compounds?

BOB & DT 8528 1ETHSW 2.8 SrarSea?
Options :

Benzenoid aromatic compound

BoRTONE D857¢35 D030

Non-Benzenoid aromatic compound

- D°-23020°00E DB ¢35 HDad w0

Alicylic compound

DO VEE PS50

Heterocyclic aromatic compound

e300 2885 DT e35 e PS0

Question Number : 139 Question Id : 4509386539 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



What are X and Y respectively in the following reaction sequence?

KMnO, dehydration
Isopentane = X = Y

Major

1BOB DTSENOS X SHOAW Y €0 SEAM D?
KMnO, DPDESe0
o o

mﬁm@ﬁ)ﬁ =
(20"
Options :
A/

OH

1.+
A

2 % OH

OH
3. %

ﬁ)“\lH//Kf’

4.

Question Number : 140 Question Id : 4509386540 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Some substances are given below
Ag: COx (s): S10y; ZnS
SOy (s): AIN: HCI (s): HaO (s)
The number of molecular solids and network solids m the above list 1s respectively
§'R) 0T 50 B ST
Ag: CO2 (s): S102: ZnS
SO2 (s): AIN: HCI (s): H2O (s

- T

S)
2 OR S (D) 98§08 HTTEN HOAM ZOF NS DT HOWS SEIT

Options:

&3
1. %

Question Number : 141 Question Id : 4509386541 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The ATy value for 0.01 m KCl solution 1s 0.01 K. What 1s the Van't Hoff factor?
(Kb for water = 0.52 K kg mol ™)
0.01 m KCl [T AT e 0.01 K. 0L o35 Heagedn) w0eh?

(€3 Kp=0.52 K kg mol ™)



Options :

1.92
1. ¢

1.72
2. %

0.96
3. %

0.86
4. %

Question Number : 142 Question Id : 4509386542 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

200 g of 20% w/w urea solution is mixed with 400 g of 40% w/w urea solution. What is the weight

percentage (W/w %) of resultant solution?

200 g © 20% wiw OPOOSR | TP, 400 g © 40% whv ANFOASP | TIeTRS SOarh.
D0 T35 278 THO (Whw %) JOEh?

Options :

30.33
1. %

33.33
2. v

36.33



28.33

Question Number : 143 Question Id : 4509386543 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2.644 g of metal (M) was deposited when 8040 coulombs of electricity was passed through molten

MF; salt. What is the atomic mass of M? (F = 96500 C mol™)

8040 S0 © DS (1030 ME2 ©a580 HOT® HO0DSNE 2,644 ¢ © 570

Options:

6347 u
1.4

65.54u

31.74u

61.48 u

Question Number : 144 Question Id : 4509386544 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The fust order reaction A — Beg) + 2C(g) occurs at 25 °C. After 24 minutes the ratio of the
concentration of products to the concentration of the reactant 1s 1:3. What 15 the half life of the
reaction (in min)? (log 1.11 =0.046)

TN 1808 1985 @0 Aw)— B+ 20 25 °C 6 200960, 24 min SHayed
BOPERRs0) OO (SOIPRSE0 © e AN 13 T &) 0. D5 eTONL)
(min ©) D05? (log 1.11 = 0.046)

Options :

150.5

15.78

Question Number : 145 Question Id : 4509386545 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following has maximum coagulating power in the coagulation of positively charged

s0l?

SR33 O 068065 1800 S TS (1853 306508 /red G50 §Oh?
Options:

Cl™
1. %



SO2

.
PO
3. ®
[Fe(CN)gl*~
4., &

Question Number : 146 Question Id : 4509386546 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the autocatalytic reaction from the following

B0 ¢3S HSONO @5 IS5 HE0TMW

Options:

Na(g) + 3Ha(®) —ol > 2NHy(g)
) Mofs)
1. %

DK C1054(s) Moy o SREIE) +30,
2. %

CH,COO0C,H; + H,0 ———» CH;COOH + C,H;OH

AgNO;(aq)+KCl(aq) = AgCl(s)+KNO;s(aq)

Question Number : 147 Question Id : 4509386547 Display Question Number : Yes Is Question



H3POs. Hj; POs

2. %

H;3;POu. HPO;
3. %

H3;POs. P-H4
4, ®

Question Number : 149 Question Id : 4509386549 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In neutral medium potassium permanganate oxidises I~ to X. Identify the X
$6)Q OrSE0S FErn0nho HomolRE. I @0irD X T e§)560t0:. X &
HBoHaM

Options :

Todine

TOVIVETS

Iodate

ORBNTE)
2.

Per 1odate

HO eoBNTZE
3. %

Hypo 1odite
T @BNZEBE



Question Number : 150 Question Id : 4509386550 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The spin only magnetic moments of the complexes [Mn(CN)g]*~ and [Co(C,0,);]* are

respectively

[Mn(CN)*" 0800 [Co(C,0,);1*~ D0TTe )0 SiHed @aHRTL06 (ZFeD5en

DT

Options :

2.84 BM. 0BM

2. %

0 BM 3.87 BM
3. %

5.92BM. 2.84 BM
4. %

Question Number : 151 Question Id : 4509386551 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

PHBV 1s a biodegradable polymer of two monomers X and Y. X and Y respectively are

PHBV @330 X. Y @3 30 S73e08 2,8 2898 0urgyed reDb. X, Y e S

Options :



X = (C2Hs5-CH(OH)-CH2 CO2H
Y = C2Hs-CH(OH)-CO2H

X = CH3-CH(OH)-CH2CO-2H
Y = C2 Hs-CH(OH)-CH>COH

2. %
X = CH;3-CH(OH)-CH-OH
Y = Cy H5-CH(OH)-CH>COH
3. ®
X =H>oN-(CH2)5-CO2H
Y= CH3-CH(OH)-CH>CO>H
4, %

Question Number : 152 Question Id : 4509386552 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The carbohydrate which does not react with ammeonical AgNO3 solution 1s
OTES AgNO; [P0 B SOB 520 ) 3T

Options :

Sucrose

15728

1.+

Maltose

eSS



Lactose

525
%®
Fructose
D8
4. %

Question Number : 153 Question Id : 4509386553 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the amino acid which has

—NH, . —CO;H and —?I—NHQ groups
O

—NH; - —CO,H SsMelov ! —iIII—NHz B INVVROTSINY
Q

£ &3) DS €80 H0THW.

Options :

Alanine

DOT

1. %

Arginine

SISFNES

Asparagine

S )0



Aspartic acid

. eI )PS5 e300

Question Number : 154 Question Id : 4509386554 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The structure given below represents

180 25 50GS QTR0 AR PN 0.

NH, SO,NH,

V4

H-N

Options:

Salvarsan

e §0 A

1. %

Pencillin

2O
2. %

Prontosil

BN ARNS]

\_‘._’42

Sulphapyridine

HEFINOABS



Question Number : 155 Question Id : 4509386555 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The major product (X) formed in the given reaction 1s an example of

80O VB DBEIT (DG €565305)0 (X) OIS 2,8 S Sen

F

HBr

= X
(CEHSCD}EDE

Options :

Secondary alkyl halide

V8088 98,0 SFBH

1. %
Primary alkyl halide
12000 8T HBH
2.
Tertiary alkyl halide
BEAHE 8T)O FB6H
3. %
Benzylic halide
2302885 FS&H
4, ®

Question Number : 156 Question Id : 4509386556 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Identify the Swarts reaction from the following

BOA 5°¢3 DO V58 ) L85 HBothdw

Options:

R-CH,— Br + Nal — 9% B S R
= A acetone . 1+ CHz —1 + NaBr

2R- CH,- Br + 2Na—3Y o R _(CH,), -R + 2 NaBr

5 % ether
ICHCl + 2Na—UIY o CGH, — CgH + 2 NaCl
ether
3. %
2R—CHy —Br + CoF, > 2R-CH, - F +CoBr,
4.

Question Number : 157 Question Id : 4509386557 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An alcohol X (C4H10) reacts with Conc. HCI at room temperature to give Y (C4HoCl). Reaction

of X with copper at 573 K gave Z. What 1s Z?

2,8 03O X (C4H100) (0 &&F 1115 S0 e HOI & 1985508 Y (C4HC) o B0

ST3K S X500 & B85S Z o 39108, Z E?

Options :

Y



CHO

N COOH

Question Number : 158 Question Id : 4509386558 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What 1s Y in the following reaction sequence?

1808 Boeg 1590 S’ Y )7

(1) Mg / dry ether
(i) O HBr (BaX=Vale)
+ HCHO+——— CHy — 5 x — 5y

(1) Zn+H,0 (C¢H;C0),0, (i1) CO,
(111) H;0"

Options :

)\/ CHO



COOH

COOH

)\/ COOH

4.«

Question Number : 159 Question Id : 4509386559 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A carbonyl compound X (C3Hs0) on oxidation gave a carboxylic acid Y (C3Hg02). Oxime of X is

2,8 56136 5950 X (C3H50) 88860 S 507)8)05 e300 Y (C3Hs0y) o

008, X C0E) &3)0) DE?

Options :

NH,>

NOH



NOH

Question Number : 160 Question Id : 4509386560 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The correct sequence of reactions mvolved in the following conversion is

1806 S7r8)AS SR BB DDAV B0

CHa CHa
e ‘ o \/w Br
. S o
NO, CN
Options:
Bromination. reduction. carbylamine reaction
S'DVAS. 500880, 5°0)O0 NS HES
1.
Reduction. Bromination. carbylamine reaction

5008800, |[BDIAS.  5BIOIDQ S8

Bromination. reduction. oxidation

ISV, S ohES0.  es8)8800



Reduction. Bromination. oxidation

008800, |ITDIAQ. 3835880



